A AL F

H 152 ook 28 4 6 H 14 H PR 11 EE 00 4
E - R WEREEB R EITHEKX)
A KL = A AL [A] e

[T = " G = S SR (A=A 1 [\

RS AR —Y 7 e 880, 000 AL
&t R —V 7 g 5hfd 1, 300, 000
st v—7 g ik 1, 350, 000
MHEHR—V o 7 &t T 1, 700, 000
Mt BARBFEREFEGAT R 1, 400, 000
WA RS

R BRI 1, 850, 000
AL = 2T

/;A \/ﬁ\

Eufumfﬂiﬂeﬁ t P—— | 980, 000
RE AT
Bl pEpE T M BARE 1, 370, 000
IR —Y 7St Bl fnz 1, 700, 000

C s
A ¥ X~ HdAHTE FHH EE | 2,000,000

bRk B St
Lo TEHEAAERASHT
HE R 1, 250, 000
He AR i
AN KL EOE E Al A% ® L & % % kL =
2,130, 000 [ 880, 000 [ MAet InEFR—Y 7

TooE Ml A 2% T OE & #®

2,300, 400 4 950, 400 M




